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% A R K FHFE C (A—B) B (%)
% 4R A REHS B
% (&E) 2 O DB (B+A) X100
9 I ; % I ; % I ; % % ; 5 I it
2,051 2,138 4,180 2,047| 2,128| 4,175 93 57| 150 4.54 | 2.68 | 3.59
181 17| ossel ows1l 171|352 29 16 45 16.02 | 9.36 | 12.78
560 616 1,176| 559 615 1,174 40 30 70 7.16 | 4.88 | 5.96
og| 1ol 218 107] 110|217 20 20 40 18.69 | 18.18 | 18.43
1,900 1,991 3,891 1,895 1,984 3,879] 123 77| 200 6.49 | 3.88| 5.16
1,678| 1,814 3,492 1,666 1,798 3,464 97 83| 180 5.82 | 4.62| 5.20
133|129 262|133 128] 261 12 15 27 9.02 | 11.72 | 10.34
1,381 1,413 2,794 1,379 1,408| 2,787 96 77| 173 6.96 | 5.47 | 6.21
1,620 1,528 3,048 1,513] 1,525| 3,038] 144  106| 250 9.52 | 6.95| 823
1,354 1,382 2,736 1,349 1,378 2,727] 112 88| 200 8.30 | 6.39| 7.33
1,283| 1,375 2,658 1,280 1,372 =2.652] 113 87| 200 8.83 | 6.34| 7.54
1,474| 1,587 3,061 1,466 1,581 3,047] 106 94| 200 7.23 | 5.95| 6.56
307|  317|  e24f 305 315 620 36 34 70 11.80 | 10.79 | 11.29
e44|  ess| 1,332]  644]  687) 1,331 57 43| 100 8.85 | 6.26| 7.51
14,574| 15,259| 29,833| 14,524| 15,200 29,724 1,078]  827| 1,905 7.42 | 5.44 | 6.41




